=/

AX

A7

620k N/ R

350k N

SSLTYVI—H AT arFy MEEEREEXK

S=1:10

65CER! (¢ 12.7-6)

FHEmDE ck : 21MPa

HEAEAL FW/C=47.5 =24 N/mm2

Bt HrEL

= 2L TAE 1,150 Tryh—R(Fr R HAE) 1sf =
e 4 4o TrH—HME 1f = Trh—IKE la = Bl AR
FF Rttt
- HEs A 7
= 5 PE17/13 0. 20
- A LASAL LSy — s
% ’7 A
-
s LAl ek \ y S
F = T £ 135
: L.
=
= < —AsSA ' PET0/62
A T
HRAR A BT J_ SEERL Mt gap A
BE 22 YN
Egﬁlgﬁ /\EH s=1:8 S=1:2
A-ATTH BB C-Cl¥frifi D-DI¥frifi
~y R7HTH— T UH—T L— | B A 7

AANFY v T

TR RPCHIL Y

HA KT

ToH—~y K

Bhisit

W7 7 o b

SETGEAAA—Y—

v—2F 1 mY 0 1EER

= AN T

PE70/62

WEZ 79 b

SRR A A AL— Y —

TRV FPCHIL VR

[(FEREN

MR (2, 065+=F AT g Fy b )

S=1:

XL MR+ =X AT v a vy PHEESHOR ST mfEE L LT D,

TRy FPCHIE YR

AR {4

M AR (A

(GZHm v R)

(RI3A 7 IV05)

P VAN

LS
o
(R E)

WY b

FITBEAAR S —H—

L L ANSA LSy T —

RS 1, 605

TR ZF U gy bk

A3 GG (¢ T79.0)

VaAfr hhA—

v — A4 7 (PET0/62)

BhgHEAAL

5 145

210

TeH—ry K IYE

7 >R RPCH & Y it

R HEA R A= —

N (¢ 60.5)

HIEFL—b (479.0)

IX AT var¥y b (¢76.3)

‘ L

AL ARL LRy —

779 bAY—T ($76.3)

G 7

(79 e)

(72 A= F)

=% =

@)

Z

2

~y KT HT 5 —

oV

T =T L— L

JEET ) v 7

R LB = (676.3)
a4 (¢76.3)

N

S=1:5
o
J
)
/
—

TRy FPCHEL YRR 7Ry RPCHIL YR

[[HEGRES AR {42

(779 bRY—7) (779 r2Y—7)

P VAN P VA7

WEZ 79 b W77 7

AL AR, LRy T — AL AR, LRy T —

MR 2

b % W Hof | B fif & BEER
T (AR L=2. 065m
P2t i A 65CE ¢ 12. Tmm X 64 1.0 ES 35. 0Bkg/ 4
IEKE (R A &t
CERLB|3ep 65CE ¢ 12. Tnm ¥ 645 m 5.97kg/m
CEALSRAEA bt 65CE ¢ 12. Tmm X 6% 10 A | HEARRELAL On 6. 10kg/A
SR
FANFy v T 65CE 1.0 1@ 2AT7 2 1. 3ke/fRl
~y RTH T 52— 65CEf] 1.0 1@ 2AT72 5. 3ke/fd
T oA =~y K & 12. TXTAH 1.0 L] 2. 5kg/f#
79 ¢ 12.7TH 6.0 Eiil 0. 063kg/#l
TrH—=TL—k (AvF) 300X300X 132 ¢86 1.0 | ck=21MPa FLTET. 85
B&t4A AANF ¥ v TN 1 5kg
2.0 kg
~v K7 X7 % —N 0.5kg
LKA AT N——/LK-1 0.1 EN 320ml /A% 0. 4kg/A
E 7
THAFarFy b 65CE ¢ 12. Tmm X 65 3 A |1=0.50%3 A=15m 8. 17kg/A
PR35 L=7.0 m FERAE 0. 5mEl k-
= AL ANRAL LRy h— L0 EN (4 KB £ RV ) 0. 25kg/m
(7> 1 —{k&5.5 m) kA& &)
P g 7 PE17/13 m 0. 088kg/m
W17 VR RPOHIL D OBERE L 0n (Vv vy F A a—2 30 0mnfLf £ TH)
¥ 2y — A, TOEHERR 1. 15m
IFRAT v arFy b S=1:5
(L=500% 3 &) )
LHi4 R7EK BB EEHATRE WETE
R4 PRI
o LT S B TH NN A 7R K
T e
[/ i 43 T I — TR
MR 1/200 ‘ [ i 5 1/1
iz
500 .
RS T S A A VR R SR TE T (905)




